ARMENDUS 080 Adaptor Product Box Content

SUPPORT ARM & ENCLOSURE SYSTEMS.

Lam TS EN 50085-1
7 TS EN IEC 61439-1

2« (UM M6x30
2x O J6.4 (M6)

WARRANTY

ARMO080.832

1 Modilleri gérseldeki gibi siralayiniz.

2 Modilleri gérseldeki gibi montajlayiniz.

(Assemble the modules as shown in the picture below.)

(Combine the module step by step as shown in the picture)

Uyumlu Modauller

(Compatible modules) ;

( Civatalar ; J6.4(x2) - M6X30(x2) )
(Washers and Bolts; J6.4(x2) —
M6X30(x2) )

ARM050.400
ARMO050.830

ARMO080.400

ARMO080.826
ARMO080.830

‘!\ .M\6.x 30(x2)3

J6.4 (x2) \

www.armendus.com




3 ModUlU pano Gzerine yerlestiriniz. 1 Baglanti civatalarini takiniz.
(Assemble the module on the panel) ' (Tighten the bolts.)

Civatalar kutu icerigine dahil degildir.

Bolts are not included in the box)

J6.4 (M6) (x2)
M6 x 30(x2)

Pano Gzerine acilmasi gereken civata baglanti
delikleri ve kablo gegis delik dl¢ileri.

(Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

25.00

66.00
74.00

www.armendus.com




